
log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0.0

0.5

1.0

1.5

2.0
A17

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A11

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A3

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A9

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0.0

0.5

1.0

1.5

2.0
A14

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A13

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A15

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A19

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0.0

0.5

1.0

1.5

2.0
A16

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A10

log(sub_ag1$enviro)
su

b_
ag

1$
da

ta
M

A4

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A8

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0.0

0.5

1.0

1.5

2.0
A2

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A6

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M
A7

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

A1

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0.0

0.5

1.0

1.5

2.0

0 0.25 1 4 16 64

A5

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0 0.25 1 4 16 64

A18

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0 0.25 1 4 16 64

A20

log(sub_ag1$enviro)

su
b_

ag
1$

da
ta

M

0 0.25 1 4 16 64

A12

Fluconazole concentration ( µ g)

O
pt

ic
al

 d
en

si
ty

 (
24

 h
)


